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Multiplikation mit Dezimalen (vertikal) Name:

L 6se jede Aufgabe. Antworten

1) 59,1 2) 61,22 3) 7,4
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4) 69.8 5) 76,47 6) 2,1
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7) 69,6 8) 23,68 9 9,7

- 6,3 . 7,9 . 2,6 H
12.

10) 3.99 11) 70,98 12) 8,2

. 3,0 . 2,6 e 4,6
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L 0se jede Aufgabe.

1)

4)

7)

10)

Multiplikation mit Dezimalen (vertikal)

Name:

L dsungsschltissel

59,1

. 5,4

2364

+ 29550

319,14

69,8

. 3,3

2094

+ 20940

230,34

69,6

2088
+41760

438,48

3,99

. 3,0

0

+ 11970

11,970

2)

5)

8)

11)

61,22

. 7,5

30610

+ 428540

459,150

76,47

. 3,9

68823

+ 229410

298,233

23,68

. 7,9

21312

+165760

187,072

70,98

. 2,6

42588

+ 141960

184,548

3)

6)

)

12)

7,4
- 3,3
222
+ 2220
24,42

2,1

63
+ 1050
11,13

9,7

582
+1940
25,22

8,2

492
+ 3280
37,72

Antworten

319,14

459,150

24,42

230,34

298,233

11,13

438,48

187,072

25,22

10.

11,970

11

184,548

12.

37,72
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Multiplikation mit Dezimalen (vertikal) Name:
L 6se jede Aufgabe. Antworten
230,34 459,150 319,14
11,13 438,48 298,233
25,22 24,42 187,072
1) 59,1 2) 61,22 3) 7,4
. 5,4 . 7,5 « 3,3
4) 69.8 5) 76,47 6) 2,1
. 3,3 b 3,9 ° 513
7) 69,6 8) 23,68 9) 9,7
- 6,3 . 7,9 * 2,6

Geandert
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